Multiple protein sequence alignment with ClustalW

Multiple sites: pir.georgetown.edu

Personal computer: download ClustalW
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Example of how to score an alignment: Write down two sequences:
\'
Score from sub. Matrix
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Selecting the right protein-scoring matrix

« Different scoring matrices are only optimal for detecting
different classes of alignments.

* One needs to consider the similarity and amino acid
composition of compared sequences.
For general alignment purpose, BLOSUMG62 or PAM120

are recommended.

For PAMx matrices, higher x detects more divergent sequences:
For BLOSUMn matrices, lower n detects more divergent sequences.

BLOSUM 80 BLOSUM®62 BLOSUMA45
PAM30 PAM120 PAM250

?  more divergent

Less divergent €



Assignment

Confirm your sequences through multiple alignment

Using ClustalW with different matrix (BLOSUM, PAM, GONNET)
Perform Genedoc

Copy and paste for ppt slide



